She
Answer:

B2

her umbrella yesterday.

They

Answer:

to the beach last summer.

He
Answer:

for a walk in the rain.

We

Answer:

a thunderstorm last night.

You
Answer:

a snowstorm in December.

Answer:

a rainbow after the rain.

The wind

Answer:

fiercely last week.

We

Answer:

a hailstorm yesterday.

He
Answer:

the snowfall last winter.

She

Answer:

a tornado in her town.




Answers

She her umbrella yesterday.
Answer: forgot

They to the beach last summer.

Answer: went

He for a walk in the rain.

Answer: went

We a thunderstorm last night.

Answer: heard

You a snowstorm in December.

Answer: experienced

| a rainbow after the rain.

Answer: saw

The wind fiercely last week.

Answer: blew

We a hailstorm yesterday.

Answer: saw

He the snowfall last winter.

Answer: witnessed

She a tornado in her town.

Answer: saw



